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6th/7th Grade Review Packet
Directions: Complete the review packet and bring it back for a bonus. If you are unsure what to do, you can go to kanacademy.org or YouTube.com to fresh your memory.
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1) During Christmas a book store sold 72 books. If the ratio of books to bookmarks sold was
9:2, how many bookmarks did the store sell?

2) A fast food restaurant sold 35 burgers with cheese. If the ratio of burgers sold with cheese
compared to without cheese was 7 : 3, how many burgers did they sell total?
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1) Atthe foy store you could get 2 board games for $8.36. Online the price for 3 board games
is $12.84. Which place has the highest price for a board game?

2) The book fair had a sale where 6 books were $20.46. If you wanted to buy 7 books, how
much money would you need?
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1) Which letter best shows -43?

A -65
« °

2) Which letter best shows -827
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1) What number is the opposite of 497

2) What number is the opposite of 417

3) What number is the opposite of -(-20)?

4) What number is the opposite of -167
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2) Whatis the ratio of pentagons to hearts? 3) Whatis the ratio of circles to moons?
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1) At the the thrift store the ratio of long sleeve shirts to short sleeve shirts was 4:3. For every
short sleeve shirts there were long sleeve shirts.

2) The ratio of cars to trucks in a parking lot was 6:8. For every cars there were
trucks.
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1) An experienced carpenter could build a house in 4 days. How much would he have
finished if he worked for 2 days?

2) A bouget had 10 flowers and sold for $90, which is a rate of §__ per flower.




